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Puzzle Test Questions for IBPS Clerk Pre, LIC Asst., SBI Clerk Pre and RRB
Scale | Pre Exams.

Set No 67
Directions: Read the given information carefully and answer the questions given beside:

Seven friends L, M, N, O, P, Q, and R are living on a seven storied building. The floors are numbered 1-7 from
bottom to top. They own different Car - XUV, TUV, Thar, Ciaz, Jimmy, Civic and Accord not necessarily in the
same order.

The one who owns the TUV lives just above L. L and N live at a gap of 3 floors. R owns Jimmy and lives 2 floors
below the one who owns Ciaz. Q lives at a gap of 2 floors from the one who owns Accord. Not more than 2
persons stay above L's floor. The one who owns Accord and O live on consecutive floors. The one who owns
the XUV live at a gap of 3 floors from P who owns either Accord or Ciaz. O does not own TUV and L does not
own Thar.

1. Who lives on sixth floor?

A.Q B.L C.O D.M E.None of these

2. Which car does L own?

A. Accord B. Jimmy C. Thar D. Civic E. None of these

3. On which floor does the Owner of Jimmy live?

A. 1% B. 3" c. 2™ D. 4% E. None of these

4. Find the one which is the odd one in given options and does not belong to the group?

A.7M B.6Q C.40 D.7L E. None of these

5. Who is the owner of Civic?

A. L B.M C.N D.O E. None of these

Correct Answers:
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Common explanation:

Reference:

The one who owns the TUV phone lives just above L. L and N live at a gap of 3 floors.

Not more than 2 persons stay above L's floor. R owns Jimmy and lives 2 floors below the one who owns Ciaz.
Q lives at a gap of 2 floors from the one who owns Accord. The one who owns the XUV live at a gap of 3 floors
from P who owns either Accord or Ciaz.

Inference:
L is either on 5th or 6th floor. He cannot be on floor 7 as the one who owns TUV lives above L.

Case 1: When L is on floor 6:

If P is on floor 1 then he cannot own Ciaz because R lives 2 floors below the one who owns Ciaz and hence P
owns Accord.

Floor | Person Car
7 TUV
6 L
5 Xuv
4 Q
3
2 N
1 P Accord

This case becomes invalid as we cannot place R according to the given conditions.

Note: If P is on floor 5 then he cannot own Accord because we will not be able to place Q, hence he will own
Ciaz.

Floor | Person Car
7 TUV
6 L
5 P Ciaz
4 Accord
3 R Jimmy
2 N
1 Q XUV

As, we cannot place O in this arrangement; hence, the case becomes invalid.

Floor | Person Car
7 Q TUV
6 L
5 P Ciaz
4 Accord
3 R Jimmy
2 N
1 Xuv




We cannot arrange O in this arrangement hence the case also becomes invalid.
Case 2: When L is on floor 5:

If P is on floor 7 he cannot own Ciaz because R lives 2 floors below the one who owns Ciaz and hence P owns
Accord.

Floor | Person Car
7 P Accord
6 0 TUV
5 L
4
3 Xuv
2
1 N

O does not like TUV hence this case becomes invalid.

If P is on floor 3 he cannot own Ciaz because R lives 2 floors below the one who owns Ciaz and hence P owns
Accord.

Reference:

O does not own TUV and L does not own Thar.

Inference:
M owns the XUV.

Final arrangement:

Floor | Person Car
7 M XUV
6 Q TUV
5 L Civic
4 0 Ciaz
3 P Accord
2 R Jimmy
1 N Thar




Answers :

1.

Following common explanation, we get

Q lives on sixth floor.
Option A, is hence the correct answer.

Following common explanation, we get
L own Civic.
Option D, is hence the correct answer.

Following common explanation, we get
Owner of Jimmy lives on second floor.

Option C, is hence the correct answer.

Following common explanation, we get
7L is odd one in given options and does not belong to the group.
Option D, is hence the correct answer.

Following common explanation, we get
L is the owner of Civic.
Option A, is hence the correct answer.
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